CBA 1 Review

1. List the domain and range of each of the following parent functions.
L f)=+x D:[0,00) R: [0))
L f(x)=F D 50y ) R: 0 09)
. fG)=logx B:(0,0Q) R: (-6050°)
V. f(x)=2° D () 09) R: (0,00)
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2. Thegraphof f(x) is shown below. What
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4. The functions k(x), f(x), g(x), and h(x) are shown below.

k(x)=x-5 f(x)=x+5 g(x)=x>-8 h(x)=x+8

Which pair of functions represents a commutative relationship; ( L X"5 ir5 =X
| n o (578) = ()-8 C.Klag)= XB1O7X )/
. glh(x)) and h(g(x)) e £(x-8)=x-5r9 =X
B. f(g(x)) and g(f(x))

‘ C. _k(f(x)) and t[ktxll =¥
D. f(h(x))and hf(x)) n(x28) = Nk>-B 8
= 1&1 - \X\
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5. Circle AL'L of the true statements below. thm
-aXl

x Y =X is an odd function because it is symmetric about the y-axis, _
2 s anQNEA £ : -ax(S

)( y=x"isan function because it is symmetric about the 3

@ y= x* is an odd function because it is symmetric about the origin. \/

@ y= |x‘ is an even function because it is symmetric about the y-axis. \/

6. The graph of a rational function is shown below. Circle all of the key attributes that correctly
describe the rational function.

'S decveasing
The function is iné:teasing in the interval (3,0).

i BTl
Vg v [ i £
g

lIl. '] The function is decreasing on the interval
(—90,—6) U (—6,3)\(3,).

The function has vertical asymptotes at x = —6
and x=3.

The function has a horizontal asymptote at y=1.

7. Graph the following piecewise function. ; T

[2x+1,x<2 m 0¥ QWY _ |
J()= -x+4,x23 A c\oSed ciccle [
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8. The graph of a step function is shown below. Circle the key attributes that describe the function.

e
The function is symmetric to the y-axis.

The function is symmetric to the origin. C\VC\CS dorﬂ-
The function is decreasing. \\ne \AP

The function is increasing. N0t 8‘\'_'9)'4@\"\l PO\(“'

@The domain of the function is {x : x € R} R

The range of the function is {y yeR}.
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9. The cost of the salt used to fill up the salt shakers on the tables in a restaurant is given by the
function f(x)=8x—2, where x represents the number of quarts of salt used and f(x) represents
the cost. If f(5a)=90, what is the value of a?

£(ea)= 8l 600— A=
"lO ‘]‘001 2 ‘%%
23«01

10. Find the end behavior for each of the graphs.
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As x —> 00,y —> (29 AS X — o0,y —> DO

Asx—>—oo,y—>"bo Asx—>—00,y—>__O___



11. Find an x-value where the following function is discontinuous.

whee denonmnadior=0
x*-2x-5 X+y=0

f(x)=3 x+6 @

12. Describe the following behavior.

e nE '"l 4105 O o * Right side behavioras x — -2, f(x) - 2
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13. Given the function g(x)=(2x+1)’ -4 and g(x) = J(h(x)), which pair of functions could
fpresent f(x) and A(x)?
L fG)=x—4and h(x)=2x+1)’ £ (2x4\)% = (2x+)%- M
/II. f(x)=x"~4 and h(x)=2x+1 i (2}(‘,‘) (?X\'\)z“\'f
/IJ( f(x)=x-4 and h(x)=x" -4 -CU?""\) 11"“\"'* =%2-8 @
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14. Given the function, f(x), shown below, determine the algebraic representation for £~ (x), and any
domain restrictions applicable on f{x), when determining an inverse function.

AP : 2
CRE L . ()= (X*l) -2
\ =
H R -
: 2 x
EERESRRERLANY 4 ‘ F = /ﬁ‘% + 2
- R 3;, ypmle
e e F e

>
Domain Restriction on f(x) X = 2

X+ S\N-2)° '

+ 2 \" !‘/

X + 2= 8o



